Задания к ИГР-2.1 Пересечение поверхностей
Таблица  
	Вариант
	Задание
	Вариант
	Задание

	1
	[image: ч1%20стр30%20%5b1%5d]
	3
	[image: ч1%20стр30%20%5b3%5d]

	2
	[image: ч1%20стр30%20%5b2%5d]
	4
	[image: ч1%20стр30%20%5b4%5d]




Продолжение табл. 

	Вариант
	Задание
	Вариант
	Задание

	5
	[image: ч1%20стр31%5b5%5d]
	7
	[image: ч1%20стр31%5b7%5d]

	6
	[image: ч1%20стр31%5b6%5d]
	8
	[image: ч1%20стр31%5b8%5d]


Продолжение табл.

	Вариант
	Задание
	Вариант
	Задание

	9
	[image: ч1%20стр32%5b9%5d]
	11
	[image: ч1%20стр32%5b11%5d]

	10
	[image: ч1%20стр32%20%5b10%5d]
	12
	[image: ч1%20стр32%5b12%5d]


Продолжение табл.

	Вариант
	Задание
	Вариант
	Задание

	13
	[image: ч1%20стр33%20%5b13%5d]
	15
	[image: ч1%20стр33%20%5b15%5d]

	14
	[image: ч1%20стр33%20%5b14%5d]
	16
	[image: ч1%20стр33%20%5b16%5d]




Продолжение табл. 

	Вариант
	Задание
	Вариант
	Задание

	17
	[image: ч1%20стр34%5b17%5d]
	19
	[image: ч1%20стр34%5b19%5d]

	18
	[image: ч1%20стр34%5b18%5d]
	20
	[image: ч1%20стр34%5b20%5d]




image6.jpeg
f——————e=

8

K
)
a9




image7.jpeg




image8.jpeg
Y

100

40,





image9.jpeg
VI





image10.jpeg




image11.jpeg




image12.jpeg




image13.jpeg
R120

29

120

290

75





image14.jpeg
'% ‘




image15.jpeg
A
110





image16.jpeg
€N

R56





image17.jpeg




image18.jpeg




image19.jpeg




image20.jpeg




image1.jpeg




image2.jpeg




image3.jpeg




image4.jpeg




image5.jpeg
S0

56

280





